N National Testing Agency
 Excouonco in Assassment]

Test Date : 11 mMar 2023 Test Slot : siot 1

|Subject : 5-Sociology

Paper I : 201-General Paper

Sl. No.1
QBID:6201001

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for

the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year mn) Solar(GW)|Wind (GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

I (x) IR (v) F St & i widt (@R, vaT ofv Fraen) gr1 Safed fega 1 wifta
&THT 31T ST SHUT-SUHT FAEE & U § T4 2011 31T 2021 F 3fFs = &f 72 dferar
& R T ¥ ofiwst & STuR W U Y Uk F I i

AR SHEET SR R0 [3ggd &l &1 faazo

[T X TH Y

af YT g | gee | oger Sagem| OR | udd | o
(e )| afrmrare)| (fivrare) | @fmare)| (aferm) | fimmare) [@fvmare) | @fimare)

2011| 50 20 10 40 60 15 08 50

2021 60 28 15 42 68 20 10 55

In which state and for what type of energy source of electricity, the percentage decadal growth
(%) in installed capacity was maximum?

1. State X, Sloar
2. State X, Wind
3. State Y, Solar
4. State Y, Wind

(1) 1
) 2
3) 3
4) 4




fooe W9 H 3R faggd & SHoll Aid & b UbR H ®IMUd &Hdl @1 GO gig (Hawr) sifidad
or?

1.9 X, BR
2. TG X, 981
3. 39 ¥, R
4.5 Y, 9ad

1)
(2)
(3)
(4)

A W N R

1[Option ID=39101] Question Description : dwbv_pg_gp6_eng_2_q1
2[Option ID=39102]
3[Option ID=39103]
4[Option ID=39104]

Sl. No.2
QBID:6201002

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for
the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year (mn) Solar(GW)|Wind (GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

T o0 3R (v) H ot F i St &R, va ok e TR sanfed figga # wift|
&HAT S ST UHT- U SEE F HIu F 9¢ 2011 31X 2021 F b F4 & 7 ArferwT
# fau T §1 Siipet F STUR W TS T Ust F IT SHore:

AR SEET AR ®fUd faggd aman &1 faaem

I X A Y

of [T G | g | siuer [wedEn| 9R | e | oEe
(e )| @fierrare | efiemare) | @fimare) | @ferm) | @ fmare) | afmare) @frmare)
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55




What was the per capita availability of electricity in state X in the year 2021

1.~ 1.21 kW
2.~ 141 kW
3.~ 1.25 kW
4.~ 1.62 kW

?

?

?

1)
(2)
(3)
(4)

I X 3 94 2021 H faggd &1 Uid afdd Iuce fda-l diz

1.1.21 fHarE
2. 141 fddre
3.1.25 fbar
4162 fode

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=39105] Question Description : dwbv_pg_gp6_eng_2_q2
2[Option ID=39106]
3[Option ID=39107]
4[Option ID=39108]

Sl. No.3
QBID:6201003




The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for

the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year mn) Solar(GW)|Wind(GW)|Coal(GW)|Population(mn)|Sclar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

3 I (x) R (v) H ot F Rfis Siet @R, waT ok g g1 safed fiega it wifta
&THT Y SH! SUT-UHT FAEE & U # a0 2011 31T 2021 F fFHe <= &f 7T dferer
# fau g &1 ofiFst F MTUR W T T Ust & I ST

AR SFEEAT SR R0 &g &l &1 faazo

e X AAY
af TS gy | g | siger [oAdeEn| §R | UEd | S
(i )| eerrare)| irmare) | efiomare)| (@fere)| @ fmare) [efimare) | fiemare)

2011, 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

The percentage share of renewable energy in total installed capacity of electricity of the
respective states was maximum for

1. State X, year 2011
2. State Y, year 2011
3. State X, year 2021
4, State Y, year 2021

1)
(2)
(3)
(4)

fdcgd @1 oo T &Hdl H AR &l &1 Wiawa Fafeiiad H 3 foud sifidas o

1. 3099 X, T 2011
2. 99 Y, 98 2011
3. 3199 X, Y 2021
4,309 Y, 34 2021

A W N R

1)
(2)
(3)
(4)

A W N R




1[Option ID=39109] Question Description : dwbv_pg_gp6_eng_2_q3
2[Option ID=39110]
3[Option ID=39111]
4[Option ID=39112]

Sl. No.4
QBID:6201004

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for
the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State Y
Population . . .
Year mn) Solar(GW)|Wind(GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

3T (x) R (v) H ot F fafis didf @R, va ok g grr safad figga 9t wifa
AT 3T ITST U FEE F HIY F q¢ 2011 3 2021 F ariwe A= & 7 Arferer
# feu MU &1 ST & SMUR W TS T usit F I Sifor:

AR ST SR R fdggd &Hdl &l faazo

I X AT Y

of TN Gr | ued | e (GadEn| 9R | uEd | s
(AT efoarey| e (efemane) | (3Rrae | @fomare) eftemare) efiemare)
2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55

What is the average of the increase in total installed capacity of electricity through renewable
energy sources in the two states from the year 2011 to the year 20217

1. 10 GW

2.12.5 GW
3.17.1 GW
4.225GW

(1) 1
(2) 2
3) 3
(4) 4




ST et o 2011 8 a¥ 2021 G@ TG FHeil widl & AT © $d wIUd [aggd &ar §
e 91 e 27

1. 10 7R A1

2. 1257 are
3.17.1 7 Are
4,225 A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39113] Question Description : dwbv_pg_gp6_eng_2_q4
2[Option ID=39114]

3[Option ID=39115]
4[Option ID=39116]

Sl. No.5
QBID:6201005

The data of installed capacity of electricity produced by different sources of energy (solar,
wind and coal) in two states(X) and (Y) alongwith their respective populations are given for
the years 2011 and 2021 in the table given below. Based on the data, answer the following
questions:

Statewise details of population and installed capacity of electricity

State X State
Population . . .
Year mn) Solar(GW)|Wind (GW)|Coal(GW)|Population(mn)|Solar(GW)|Wind (GW)|Coal (GW)
mn
2071 50 20 10 40 60 15 08 50
2021 60 28 15 42 63 20 10 55

I (x) IR (v) H St F i it (@R, vaT ok Fraen) IR Safed fiege ¥ wift|
ST S ITDT SUHT- U SEE F Gy F ad 2011 3 2021 F sriwe F4 & 7 arferwr
# 3T 7§ SfiwSl & STUR W TR T Ukt F I ST

AR SHEET AR R gy & & faawm

Il X A Y

of TS gz | uad | wger [wegEn| 9R | U | e
(ﬁ:‘m[iﬂilldld)[JIIJIIdId)[JIIJIIdId)@W)(m(m(m

2011 50 20 10 40 60 15 08 50
2021 60 28 15 42 68 20 10 55




Per capita availability of electricity was least in

1. State X, year 2011
2. State Y, year 2011
3. State X, year 2021
4, State Y, year 2021

1)
(2)
(3)
(4)

faggd &1 wid safd Jucsal F9 | ¥ fhed gaas 4z

1.9 X, T 2011
2.0 Y, a¥ 2011
3. 3109 X, Y 2021
4.9 Y, 34 2021

A W N R

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=39117] Question Description : dwbv_pg_gp6_eng_2_q5
2[Option ID=39118]
3[Option ID=39119]
4[Option ID=39120]

Sl. No.6
QBID:6201006

Given below are two statements in the context of cooperative development:

Statement |: Accomodation takes place when we use our exising schemas to make sense of events
in our world.

Statement II: Assimilation occurs when we must change existing schemas to respond to a new
situation.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

(1) 1
) 2
3) 3
(4) 4




T fdem & ded d i gl sy fag e 8

HY - |- GHESH a9 21aT & 98 89 AT g & geredt @ o F@eH & o s faeme
EUREI3 BT TG Hd B

DY - 1| : ATHGIH Y 74 Bial § 9d g a4 U & TgeR J [9gmF Su@rsd o1 T
EFREIECIE]

Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -
1. @Y | 3R 11 GH 981 8l
2. YT AR I GHI Tad g

3. %Y | Tl g, g Py 11 TTad § |
4. @ T T, g I I TR B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39121] Question Description : dwbv_pg_gp6_eng_2_q6
2[Option ID=39122]

3[Option ID=39123]
4[Option ID=39124]

Sl. No.7
QBID:6201007

Which of the following are the video-conferencing tools?
A. Skype

B. Piktochart

C. Blue Jeans Meeting

D. Jabber

E. Mindmeister

Choose the correct answer from the options given below:

1.B, Cand E only
2.B,Cand D only
3.A Cand D only
4. A, D and E only

1) 1
(2) 2
3) 3
(4) 4




FafaRad H 9 @H-®H dfSU-eHEb T 3us 32
A @Y

8. faerare

c. i<l (=) Siig 98

D. WieR

E. AGSMHIRR

i feu 7 fadhedi H U Ugl IR 94 -
1. ®ad B, C ARE
2. %ad B, C 3R D

3. Had A, C 3R D
4.%ad A DIAIRE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39125] Question Description : dwbv_pg_gp6_eng_2_q7
2[Option ID=39126]

3[Option ID=39127]
4[Option ID=39128]

Sl. No.8
QBID:6201008

A physics project has been started by the teacher in one of the classes. The students in the project
have been arranged into groups of five members each. Each member of the group is accountable
for the creation of one individual compaonent of a project. After that, the five components of each
group will be assembled together to create a complete project. This is an example of:

1. Jigsaw

2. Problem-based learning
3. Discussion method

4. Play-way learning

(1) 1
(2) 2
(3) 3
(4) 4

Ue 18 - 3G U ®&ll H U Hilds! URalsHl iRy & ¢ | UREieHT H @l &I Uig-uid e
aTcl Sl H Hafeyd faa1 711 ¢ | 9E &1 Ud® 9 [ddl Ue URAieHT (Uieide) & Uh duedh
T & fou IRed! 81 39 915, Id® 94E & Ud Sucd| I Us 9qu] uidieHl &4 & [ o6
1Y SI1S1 S| I8 FEfied & 9§ Pad 3aeiv &7

1. Jazq Wi gu= (E)
2. T S ST
3. =i fafy

4. iel [diY sfferm

1) 1
(2) 2
3) 3
(4) 4




1[Option ID=39129] Question Description : dwbv_pg_gp6_eng_2_q8
2[Option ID=39130]
3[Option ID=39131]
4[Option ID=39132]

Sl. No.9
QBID:6201009

Which of the nurturant effects are related to Inquiry Training Model?
A, Spirit of creativity

B. Improved concept-building strategies

C. Independence of Autonomy in learning

D. Inductive reasoning

E. Scientific Process

Choose the correct answer from the options given below:

1. A B and E only
2.A Cand Eonly
3.B, D and E only
4.B, Cand D only

1) 1

(2) 2

3) 3

(4) 4

FafaRad 7§ 9 ©F ¥ UiNd Uyd g URE0 dled | 96fdd 87

A. GoTHB AT BT HIGT

B. J9d Yol I T0H Tt

C. ST | Wl &1 Waad]

D. NTHATHS dB N

E. 3@ ufdedn

o fEu U fadheal 4 9 98 S g -
1.BaAA, B AR E
2. ®BadA, C3RE

3. ®ad B, DARE
4.%ad B, CARD

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39133] Question Description : dwbv_pg_gp6_eng_2_q9
2[Option ID=39134]

3[Option ID=39135]
4[Option ID=39136]

Sl. No.10
QBID:6201010




Match List | with List I

List | (Instinct) List Il (Emotion Accompaying it)
A. Flight or Escapel|l. Positive Self feeling

B. Self-assertion |Il. Wonder
C. Curiosity IIl. Fear
D. Acquisition IV. Feeling of ownership

Choose the correct answer from the options given below:

T.A-ILB-IV,C-1II,D-1
2ZA-1LB-1I,C-1V,D-1l
S.A-ULB-1,C-1I,D-1V
4 A-1L,B-1l,C-1V,D-1

1) 1

) 2

3) 3

(4) 4

Tt -1 B gt -1 o gAfed st

gl -1 (e gy Gt -11 (e )
A G |. GBRIHS W-H1d
B. T-IATHHYH 1. fawmg

C. Ped I, g

D. STERIgUr V. TaTHed B HIGHT
i feu e fadenl # 9§ 9gl 3w gHU :

TA-ILE-IV,C-l, D-1
2ZA-LB-NL,C-IV, D-1
3.A-ILB-LC-1, D-IV
4A-NLB-1,C-1V, D-1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39137] Question Description : dwbv_pg_gp6_eng_2_q10
2[Option ID=39138]

3[Option ID=39139]
4[Option ID=39140]

Sl. No.11
QBID:6201011

An example of participant or subject variable can be

1. Time order

2. Recollection

3. Political affiliation of a person
4. Manipulation

1) 1
(2) 2
3) 3
4) 4




ufaurtt stuar favg = &1 A9 & ¥ $H-91 U6 3aev 8 9adl 7

1. GHT AR
2. ¥R

3. foodt =afea &1 IeHiia® dde
4. Fagred

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39141] Question Description : dwbv_pg_gp6_eng_2_qi1
2[Option ID=39142]

3[Option ID=39143]
4[Option ID=39144]

Sl. No.12
QBID:6201012

Interpretation paradox is the term normally used in

1. Historical research

2. Cross-cultural research
3. Content analysis

4. Ethical research

1) 1
(2) 2
3) 3
(4) 4

oRE Rt 9 g g § 9 e war & 9rdt 87

1. UfaeTfae =y
2. R-Yipiad MY
3. Jiddeq fa=eyur
4, it 2y

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=39145] Question Description : dwbv_pg_gp6_eng_2_q12
2[Option ID=39146]

3[Option ID=39147]
4[Option ID=39148]

Sl. No.13
QBID:6201013




Which of the following are adventages of the web-based research?
A. It saves time for the researcher

B. The web is open for participants all the day

C. Data collection is accurate as well as automatic.

D. Remote participants provide rich data.

E. The digital divide does not have any impact on data collection
Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4. A Dand E only

(1) 1
) 2
3) 3
(4) 4

3g-ATRG Y & FEfEd g T S A Ay &7
A. T8 TUHdl & [0 GG 31 990 P 2
8. UferuTfirgt & fou 39 R & gan war g

C. B SI-GIe0 Gld 3R FaIerd aidl 8l

D. 3% WiayTift Jeaa Sids WaH ®d gl

£, fSfored smmal &1 i@ sl & 9980 IR @i UUE 8! aidl o
o feu U fadeal H U Uel IR 94 -

1.BaAAA, B AR C

2.%dq e, C ARD

3.H9dC, D 3IRE
4. BaAA DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39149] Question Description : dwbv_pg_gp6_eng_2_q13
2[Option ID=39150]

3[Option ID=39151]
4[Option ID=39152]

Sl. No.14
QBID:6201014




Given below are two statements:

Statement |: In experimental research, we cannot eliminate extraneous factors that influence the
outcome,

Statement II: In survey research, a vast amount of rich and diverse data can be collected.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

EIEEAERE I A
DY - | : Ui Y H §H 34 91d SRS| B [daly- 781 B2 Fdhd g il URUIH B UHIad Hd 5 |
DY - 11 : Fago WY H HR A H HeaH R afay bR & siids Uhd fbT off §dhd g
Il HYAl & 3o H FEitiad el # 9 98l Su g -
1. ®YF | 3R 11 H 981 8
2. YA | 3R 1l G Teid g |

3. @Y 1 Tl g, fog @Y 1 Tad § |
4. Tad T, g I I TE B

A W N B

11
(2) 2
3) 3
(4) 4

1[Option ID=39153] Question Description : dwbv_pg_gp6_eng_2_q14
2[Option ID=39154]
3[Option ID=39155]
4[Option ID=39156]

Sl. No.15
QBID:6201015

Given below are two statements:

Statement |: t-tests can be to test mean differences between two groups.

Statement Il: ANOVA can not compare the differences between group means.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N R




EIERALAE N AR N f
@Y - | - +-TRI&I0T BT YT &f SHEI & drd |19 SRl o TRI&0T & ford fasan off 9 g |
HYF - 11: U T 3 &t T OgE Teat & R B o el BR TP B
e HYAl B HTcle H Ficiad [ddhedl # 9 98l W 9 -

1)
(2)
(3)
(4)

1. @Y | 3R 11 HT 9el 8
2. HY 1 3R 11 SHT TTAd &

3. B HEl 8, [ @Y 11 TTed & |
4. YA | Tad &, g By 1 T8I B

A W N R

1[Option ID=39157] Question Description : dwbv_pg_gp6_eng_2_q15
2[Option ID=39158]
3[Option ID=39159]
4[Option ID=39160]

Sl. No.16
QBID:6201016

Threats to efficient community communications are related to the value of

1)
(2)
(3)
(4)

1. Equity

2. Power

3. Education
4. Freedom

A W N R

HIUGET YHEIAS YdR & Ui doi- 8 H U [ 71 4 Hafid 87

(1)
(2)
(3)
(4)

1. 9ol
2. Tidd
3. Tnan
4, GaAdl

A W N R

1[Option ID=39161] Question Description : dwbv_pg_gp6_eng_2_q16
2[Option ID=39162]
3[Option ID=39163]
4[Option ID=39164]

Sl. No.17
QBID:6201017

In mediated communication, there is a greator preference to consider a/an

1. Unconventional information source
2. Known first information source

3. Known second information source
4. Unknown information source

as credible.




1) 1
(2) 2
(3) 3
(4) 4

Ty gEN § FEiaiad J 9 50 Gy g & i@ a3igdr ¢ ol 87

1. HURURS a1 A
2. 1 UH ol Al
3. S fgaid g1 Jia
4, 3Id a1 i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39165] Question Description : dwbv_pg_gp6_eng_2_q17
2[Option ID=39166]

3[Option ID=39167]
4[Option ID=39168]

Sl. No.18
QBID:6201018

Which of the following are common classifications of communication?
A. Optics

B. Epistemics

C. Kinesics

D. Vocalics

E. Haptics

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4.B, D and E only

1) 1
(2) 2
(3) 3
4) 4




FrafaRad # ¥ @H-@H S2I90 & GHF F 60 67
A UHEIT (i)
B. ¥ et (=)
C. T (@ TTG)
D. Wl
£ BiPRT
i< f&T 70 fadedi # 9 981 ST I -
1. @A A, B, C
2. %490 B, C, D

2. ®aAC, D, E
4, HddAB, D, E

1)
(2)
(3)
(4)

A W N R

1[Option ID=39169] Question Description : dwbv_pg_gp6_eng_2_q18
2[Option ID=39170]
3[Option ID=39171]
4[Option ID=39172]

Sl. No.19
QBID:6201019

Given below are two statements:

Statement |: Massline communication was practised by Mahatma Gandhi during the freedom
movement,

Statement II: Massline communication is devoid of any purpose and compounds the anarchic
situation.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =




FY - | : Herd M GR1 WAl Aaed & GRE SH@ G2 ([9-aTe-) YUy &1 WarT fdar T
|

DY - || ; SHBM G2 (A1E-T12H) T FHee=d 8id1 & AR sRoddl ®! fRUfd &1 3R 9¢l edl o
SWad HUAl & H1die H HufeRad fadddl § 4 9el 3w g -

1. BT 1 AR 1 SHT I '

2. YA | AR 11 GFT AT B

3. @Y 1 Tel e, g @Y 11 Tad & |
4. U A ¢, g B I T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=39173] Question Description : dwbv_pg_gp6_eng_2_q19
2[Option ID=39174]
3[Option ID=39175]
4[Option ID=39176]

Sl. No.20
QBID:6201020

Given below are two statements:

Statement |: Some Western views of communication are related to language and its use.
Statement II: In Asia, scholars attach importance to the element of silence in communication.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

BIECAIE AR
HYF - |- TR & Hiad UiEH SPHI0 HT 3R I8S UarT ¥ HE U 21
@ - 11 - TR H, fagH weivn § 99 & 9@ o 9edi ¢d ¢
Iudad Bl B 3o | Faftiad el J 9 58l W g -
1. ®YF | 3R 11 EHT 981 8
2. HYF | 3R Il THI T g

3. U 1Tl g, g Py 11 TTad § |
4. @A T, g I I TR B

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=39177] Question Description : dwbv_pg_gp6_eng_2_q20




2[Option ID=39178]
3[Option ID=39179]
4[Option ID=39180]

Sl. No.21
QBID:6201021

Find the 51% term of the following series :
1 1
12,13-,15,16—,18, ... ....
2 2

1.78
2.87
3.89
4.85

1) 1
(2) 2
3) 3
(4) 4

fufaiad & ¥4 | €1 718 @ & 5191 UG 9dIsu:
1 1

12,13=,15,16—, 18, ... ...
2 2

1.78
2.87
3.89
4.85

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39181] Question Description : dwbv_pg_gp6_eng_2_q21
2[Option ID=39182]

3[Option ID=39183]
4[Option ID=39184]

Sl. No.22
QBID:6201022

In a class of 60 students, the average height of 20 students is x centimeter, the average height of
other 20 students is y centimeter and the average height of the remaining 20 students is z
centimeter. Find the average height of the whole class.

1. (x+y+z)/60 cm
2.30 cm

3. (x+y+2)/20 cm
4. (x+y+z)/3 cm

1) 1
(2) 2
(3) 3
(4) 4




60 faenfial @1 us wan o 20 fqenitial o ofiad Sarg x HEHieR g, g 20 faendal @1 oua $ars
y UeTHIeR § 3R 7Y 20 faefial @t siad Garg z SdiHieR g1 df 9qul oam & faenfial ot siad
G IR IRY

T.(x +y +2)/60 cm

2.30 cm

3.x+y+2)/20cm

4.(x+y+2z)/3cm

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39185] Question Description : dwbv_pg_gp6_eng_2_q22
2[Option ID=39186]

3[Option ID=39187]
4[Option ID=39188]

Sl. No.23
QBID:6201023

Two persons A and B can do a piece of work in 45 and 40 days, respectively. They started their
work together but A left after some days and remaining work was completed by B in 23 days.
Find after how many days did A leave?

1.1
2.10
3.8
4.9

(1) 1
(2) 2
(3) 3
(4) 4

&l Jfad A IR B gl e o1 & HH: 45 3R 40 A § U % I6d B 1 2 U1 S U 1Y
TRY & o1, T A - % &1 916 1 B B18 1631 3R B A 2 &/ &l 23 & & g faan
AF fodm et a1e o 31 3is g ure

1.1
2.10
3.8
4.9

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39189] Question Description : dwbv_pg_gp6_eng_2_q23
2[Option ID=39190]

3[Option ID=39191]
4[Option ID=39192]

Sl. No.24
QBID:6201024




A man deposited Rs. 1.0 lakh in his bank account and earned a profit of Rs. 25,000 @5% simple
interest per annum. Find out the time period for which the money deposited by the man
remained in the bank.

1.3 years
2.5 years
3.4 years
4.7 years

1)
(2)
(3)
(4)

A W N R

U Sfad = 31U §p Wil H 1.0 TG . ST o1 IR aifiep 5 W= Bl QYR 3416 &3 b 3FER
25,000 %. T QY Hfoid [T df 9a15T & 39 afda- a1 THaEy 9@ d@ o Y0 o ] @
@l 4T

1.394
2,594
3.439
4774

1)
(2)
(3)
(4)

A W N R

1[Option ID=39193] Question Description : dwbv_pg_gp6_eng_2_q24
2[Option ID=39194]
3[Option ID=39195]
4[Option ID=39196]

Sl. No.25
QBID:6201025

A fruit seller sells 80% of the fruits he has with him . Out of the remaining fruits he throws away
20 % of them only. Next day he sells 50 % of the leftover fruits from the previous day and throws
away the rest. What total percentage of the fruits does the seller throw?

1.15%
2.12%
3. 18%
4, 20%

1)
(2)
(3)
(4)

TS B fdshdl 304 80 U= Bal @i fash! &l & 3R 29 Hal & bad 20 Ua=d & $& ol 8l
I8 3Ta &7 FUed 59 & 99 sU Bal & § 50 Uf=id @1 99 eaT & 3R 29 Bl & e oar gl &
T a1 31U Bal B $d [PaT Tiasd B odl &7

1. 15 Wid=rd
2. 12 ufa=d
3. 18 Ufa=d
4. 20 "fa=d

A W N R




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39197] Question Description : dwbv_pg_gp6_eng_2_q25
2[Option ID=39198]

3[Option ID=39199]
4[Option ID=39200]

Sl. No.26
QBID:6201026

Which informal fallacy is committed in the following argument . "The quality of higher education
in our country has been declining for years. Therefore we can conclude beyond doubt that
university teachers are not doing their job these days"?

1. False cause

2. Slippery slope

3. Hasty Generalisation
4. Straw Man

1) 1
(2) 2
3) 3
(4) 4

FofaRad § @1 sA@IRE db-a/ ¢ - "SR o¥ § aul 4 I & &1 o Rl &1 @1 5
ooy, 79 FHee w0 U frsad fara gaa & & fayfdaray & e 31 61 s o T8l e 6
g7

1. e R
2. Thyaa-gad gaH (‘AU W)
3. HidgR! grEiE

4. 919 Yqdl (HA)

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39201] Question Description : dwbv_pg_gp6_eng_2_q26
2[Option ID=39202]

3[Option ID=39203]
4[Option ID=39204]

Sl. No.27
QBID:6201027

If the proposition-"No mammals are aquatic animals” is given as true, then which of the following
propositions can be directly inferred from it 7

1. Some mammals are not aquatic animals.
2. Some aquatic animals are mammals.

3. Some mammals are non-animals

4. Some non-mammals live in water

(1) 1
) 2
3) 3
(4) 4




Ui 38 UiaRit - iy 1 YR Sclid Uy Al o - & 90 & w4 H feg1 741 ¢ ol g4 (gfeiad
H U ®Il Ufawita &1 Wes U U SHH ol o dohdl 57

1. T WHYR], 9o U T8l &

2. S wdd UF], WHUR &

3. T8 WHYR], TR-U 8

4. % IR-THYR] & ¥ a9 & g

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39205] Question Description : dwbv_pg_gp6_eng_2_q27
2[Option ID=39206]

3[Option ID=39207]
4[Option ID=39208]

Sl. No.28
QBID:6201028

Which of the following statements are logically equivelent?
A. some dogs are not aggresive animals.

B. some dogs are aggresive animals.

C. some non-dogs are aggresive animals.

D. some non-aggresive animals are not non-dogs.

Choose the correct answer from the options given below:

1. A B and C only
2. A and Conly
3. A and D only
4.B and C only

(1) 1
(2) 2
3) 3
(4) 4

Fafciad 9 € @14 HyA difhd ©U ¥ 5974 &7
A. TS T ATHHD U Tl &
B. @ Tl HMHHS U g
C. $S TR-Tdl MTHHD U 3
D. TS TR-ATHMS UF] R-& Ta1 &
e T e H A WS I -
1. A A, B 3R C
2. Bad A R C

3. HIAA AR D
4. HAAB 3R C

1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=39209] Question Description : dwbv_pg_gp6_eng_2_q28
2[Option ID=39210]
3[Option ID=39211]
4[Option ID=39212]

Sl. No.29
QBID:6201029

Which of the following statements are contrary to each other?
A. All objects are perishable.

B. Some objects are perishable.

C. Some objects are not perishable.

D. No objects are perishable.

Choose the correct answer from the options given below:

1.Cand D only
2. A and D only
3.B and D only
4. A and Conly

1) 1
(2) 2
3) 3
(4) 4

FfaRad # 9 oY Y U555 & [audid 87

A GHI TRU AR B

B. BT a5y TR 2|

C. $T el TR T &

D. @13 M e TR TS B

i< f&u U fadeal 5 4 981 I g -
1.®ad C AR D
2.59d A AR D

3. HAAB ARD
4. BadA AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39213] Question Description : dwbv_pg_gp6_eng_2_q29
2[Option ID=39214]

3[Option ID=39215]
4[Option ID=39216]

Sl. No.30
QBID:6201030




When | ask my friend for my way about his residence over the phone, which of the following
instruments of knowledge is used by me to hear and understand what my friend says, as per
classical Indian school of logic(Nyaya)?

1. Perception (Pratyaksa)

2. Inference (Anumama)

3. Postulation (Arthapatti)
4. Verbal testimony (Sabda)

OR!
(2) 2
3) 3
(4) 4

A 99 BH W U 73 U SUd A R oH & 07 & 9 3 031 df YR dH3Rd & ™
™ & HTER T 07 A ol &g, 39 YA IR 9HeH & fau 3R gR1 Hafaied § 9 99 & 6y
e @1 JUTT fohal T/

1. Udal
2. S
3. YO
4, Tag

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39217] Question Description : dwbv_pg_gp6_eng_2_q30
2[Option ID=39218]

3[Option ID=39219]
4[Option ID=39220]

Sl. No.31
QBID:6201031

Which of the following applications A-C are built on top of open-source digital platforms?
A. PHP

B. WinRAR

C. Digilocker

Choose the correct answer from the options given below:

1. A and B only
2.Aand Conly
3.B and C only
4.4 Band C

(1)1
(2) 2
(3) 3
(4) 4




A Y ¢ 9@ 68 T Faieiad g @EeneE 5 9 F ged-did sfied wewbH & 2 W)
a8
A Ul Tg Ui (PHP)
B. [ R (WinRAR)
C.ﬁ"ﬁﬂ?ﬁﬁ(Digilocker}
= fu 70 fgdenl § @ 9dl IR g4 -
1.Had A AR B
2. Bad A AR C

3. ®WAAB 3R C
4.A B3R C

1)
(2)
(3)
(4)

A W N R

1[Option ID=39221] Question Description : dwbv_pg_gp6_eng_2_q31
2[Option ID=39222]
3[Option ID=39223]
4[Option ID=39224]

Sl. No.32
QBID:6201032

Given below are two statements with reference to Web 3.0:

Statement I: Web 3.0 is an interactive web and its greatest virtue is the democratization of content
production.

Statement II: Apple’s Siri, which can summarise large amount of information into knowledge and
useful actions for people, is an example of Web 3.0 application.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)

BERAGIE AR
T - | : 39 3.0 I HUTED 34 & SR SHDT garad 01 a9y g FHI ST dddariaxul gl

T - 1| : Td @1 IR (Sir) 99 3.0 TR @1 Ud 3alex g, ol i & [0 Ga-l @1 ged Jr:
DI 4 R IugnT fobarsl & ¥4 § GRag & 95dl ol

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -
1. YT | 3R 11 THT G B
2. YT AR I AT HTIE

3. FYT | 9d &, A B 1| T g
4. BYT | 3T B, TfcpT HYT 11 T B

A W N R




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39225] Question Description : dwbv_pg_gp6_eng_2_q32
2[Option ID=39226]

3[Option ID=39227]
4[Option ID=39228]

Sl. No.33
QBID:6201033

Given below are two statements:

Statement |: Vivaldi is a web search engine.

Statement II: Microsoft Bing is a web browser.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
() 2
3) 3
(4) 4

BIERALAIEN A

HY - | : fqarcS! U 99 T S g |

FYF - || : AIEHEITE @7 UP 96 FeoR ol

I HYA B 3G H FEieiad [eedl # 8 98l 3w 94 -
1. Y1 3R 11 SHI G B
2. BYA | AR 1 G SEA G

3. YT | 9d §, dfth dYA 11 3T B
4. Y | 35T B, A HYF 1 T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39229] Question Description : dwbv_pg_gp6_eng_2_q33
2[Option ID=39230]

3[Option ID=39231]
4[Option ID=39232]

Sl. No.34
QBID:6201034

The terms 'Maze, Petya and Wannacry' mentioned in the news over the last few years are related
to

1. Mobile Apps
2. Crypto-Currency
3. Cyber Attacks
4. Virtual Reality

(1) 1




) 2
3) 3
(4) 4

W@Hﬁﬁ@aﬁﬁ@ﬁaﬁﬁﬁa (Maze), Ter (Petya) Gﬁ?aﬂl—ﬁﬁ% {Vanna Cry) Fafafaa o
T fpod gefiq &7

I GIE R
2. frpt @
2. HIgE g9
4. YT Tt

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39233] Question Description : dwbv_pg_gp6_eng_2_q34
2[Option ID=39234]

3[Option ID=39235]
4[Option ID=39236]

Sl. No.35
QBID:6201035

National Coordinators of Swayam have been appointed in order to ensure that best quality
contents are developed and disseminated. In this context, which twe of the following are
corrected matched?

A. AICTE - Engineering Education

B. CEC - Under Graduate Education

C. NCERT - Teacher Training Programmes

D. UGC - Non-technical Post Graduate Education
Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. A and D only
4.B and D only

(1) 1
(2) 2
(3) 3
(4) 4




Tatan oraagut fvgasg & fHafor iR TeR B Agfi ot s 1 su e |, Rofafsa e sm 3
<l g Wl gHfd 87

A TS 91 1S - afimitiet fien
B. TS 4l - siftraras fuan
C. T Y3 3R 2 - g ufdiem srimy
D. g ol Tl - IR dd-1o! Wiadae 20af
i< feu e faweal 5 § 981 IR 9 -

1. Pad A 3R B

2.5aaB R C

3. AT A R D
4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39237] Question Description : dwbv_pg_gp6_eng_2_q35
2[Option ID=39238]

3[Option ID=39239]
4[Option ID=39240]

Sl. No.36
QBID:6201036

Match List | with List I

List | (Water Pollutants ) |List Il (Examples)
A. Inorganic chemicals . lodine

B. Organic chemicals Il. Detergents

C. Radioactive materials |lll. Parasites

D. Pathogens IV. Salts

Choose the correct answer from the options given below:

1.LA-L,B-IN,C-1LD-H
2ZA=ILB<LEC-. D=V
3.A-LB-IV,C-I,D-IN
4 A-IV,B-I,C-1,D-1l
(1)
(2)

(3)
(4)

A W N R




Tt -1 B gt -1 o gAfed st

gl -1 (A Ugue) el -1 (SarE)
A, BTEAD THEA |, HATEH

B. BIEH® LT |, T&T®

c. Isaryr arEh I1I. TR

D. IFTHE® WASG L

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILE-IV,C-1, D-1l
2ZA-ILB-1LC-1, D-IV
3.A-LBE-IV,C-1l, D-11
4A-IV,B-I,C-1, D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39241] Question Description : dwbv_pg_gp6_eng_2_q36
2[Option ID=39242]

3[Option ID=39243]
4[Option ID=39244]

Sl. No.37
QBID:6201037

Which of the following gases has maximum Global Warming Potential (GWP)?

1. Chlorofluorocarbans (CFCs)
2. Carbon dioxide(CO3)

3. Sulphur hexafluoride(SFg)
4, Methane (CHa)

(1) 1
() 2
(3) 3
(4) 4

fFraffad § 9 f5g 19 2 sfiead e du= & (o ss<g @) 27

1. TRITARI Sre-4 (I TF )
2. ®EA BT5 AEFES (H13l,)

3. JoBX B TIRTS S (UF Uhy)
4. Y (@ Ty

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39245] Question Description : dwbv_pg_gp6_eng_2_q37
2[Option ID=39246]

3[Option ID=39247]
4[Option ID=39248]

Sl. No.38
QBID:6201038




Identify the health affects related to Noise pollution

A. Speech interference

B. Hearing loss

C. Hypertension

D. Respiratory disease

E. Insemnia

Choose the correct answer from the options given below:

1. A B and E only
2. A, B, Cand D only
3.ABCDandE
4. A, B, Cand E only

(1) 1
) 2
3) 3
(4) 4

a1 TguuT ¥ 4l W gYTE &1 Ug9H Sifae:
A. dTUI G

B. /@01 g9

C. 3= aaa

D. 4T I

£ 2T I

il feu e famel 5 4 9 SR A -

1.BaAA, B HRE
2.PdAA B, C HR D
3.A B C DIRE
4. Had A, B, C AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39249] Question Description : dwbv_pg_gp6_eng_2_q38
2[Option ID=39250]

3[Option ID=39251]
4[Option ID=39252]

Sl. No.39
QBID:6201039




Match List | with List Il

List | (Solar energy system)|List Il (Function)

A. Solar Ovens l. Drying

B. Solar Ponds IIl. De-salination of water
C. Solar Stills ll. Cooking

D. Solar Kilns IV. Producing hot water

Choose the correct answer from the options given below:

T.A-NL.B-N.C-LD-1
2ZA-N.B-V,.C-ILD-1I
3.3A-IV,B-IIl,C-1I,D -1
4 A-IV,B-II,C-1,D-1

1) 1

(2) 2

3) 3

(4) 4

Tl -1 &1 Gl -1l ¥ GHfed $ifoe :

Gl -1 (R Sl guTe) T 11 (T

A. IR Tedl . g

B.UR &S II. e @l AaURIgd BT
c. IR e I1l. HISH U@

D. YR YT V. TTH STl Iead BT
= feu e fadwent § 9 81 IR 9T

TA-ILB-IV,C-1, D-1I
2ZA-NLB-IV,C-1l, D-1
.A-IVB-ILC-IL D-1
4A-IV,B-ILC-1, D-1

1)
(2)
(3)
(4)

A W N R

1[Option ID=39253] Question Description : dwbv_pg_gp6_eng_2_q39
2[Option ID=39254]
3[Option ID=39255]
4[Option ID=39256]

Sl. No.40
QBID:6201040




Which of the following are core missions of National Action Plan on Climate Change?
A. National Solar Mission

B. National Mission on dessert

C. National Water Mission

D. National mission for sustainable agriculture

D. National Mission on Indian Ocean

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.A Cand D only
4.C, Dand E only

(1) 1
) 2
3) 3
(4) 4

fFrafafed 3 9 oo Sy uRkad- d94 agia o g @ S B e
A. BT R (Gor) e
B. e R0 YaHT agia faee
C. PTG Wi e
D. Hoid PiY Haiell ATy e
£, 6 HEMFR Tedl P e
i<l feu e fadeal & 9 W6l SR 9 -
1.HaAA, B 3R C
2.%ae B, C AR D

3. HaA A, C3RD
4.HaAC, DARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39257] Question Description : dwbv_pg_gp6_eng_2_q40
2[Option ID=39258]

3[Option ID=39259]
4[Option ID=39260]

Sl. No.41
QBID:6201041




The creation of the first ever separate ministry of Skill Development and Enterpreneurship was
announced by

1. Narendra Modi

2. A. B. Vajpayee

3. P. V. Narasimha Rao
4. Manmohan Singh

1) 1
(2) 2
3) 3
(4) 4

FrofaRad § O feg 3 o faem g Iamiaa & fon 9duys U gud d3red §9H &1 9o o
4z

1. 9% AIGT

2. UA. araudt

3. M8 Rigmrva
4. 7 8

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39261] Question Description : dwbv_pg_gp6_eng_2_q41
2[Option ID=39262]

3[Option ID=39263]
4[Option ID=39264]

Sl. No.42
QBID:6201042

The full form of SAMVAY is -

1. School Assessment Matrix for Vocational Analysis of Youth

2. Skill Assessment Matrix for Vocational Advancement of Youth

3. Skill Accreditation Matrix for Vocational Advancement of Youth
4. School Assessment Matrix for Vocational Advancement of Youth

(1) 1
(2) 2
3) 3
(4) 4

EUHAUAE ST EU 8
1. ¥pd UOgHe AT B AihRHd TAIad S gy

2. pd tugHe Hicay BR dibeHd USdigHe 3K gy
3. Rnd UshsieRH HidHR IR dihe-d UsdigHe 3w gy
4. Tpd UHgHe HiZe BIR didbYHd UsaigHe 1% gy

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=39265] Question Description : dwbv_pg_gp6_eng_2_q42
2[Option ID=39266]

3[Option ID=39267]

4[Option ID=39268]
|




Sl. No.43
QBID:6201043

The Aim of NEP 2020 is to increase the Gross Enrolment Ratio in higher education including
Vocational education from 26.3 % in (2018) to

1. 50 % by 2035
2.35% by 2030
3. 40 % by 2030
4. 60 % by 2030

(1)1
(2) 2
(3) 3
(4) 4

Pty e Hifd (TS, 2020 1 WL € o S 18 Higd 3= R8T H ¥Ha AHie 3
(2018 T) 26.3% ¥ §¢1 B2 9 P [od1 ou|

1. 2035 dd 50%
2. 2030 ddv 35%
3. 2030 d& 40%
4. 2030 dd 60%

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39269] Question Description : dwbv_pg_gp6_eng_2_q43
2[Option ID=39270]

3[Option ID=39271]
4[Option ID=39272]

Sl. No.44
QBID:6201044

Match List | with List Il

List | List I
Discipline/Subject Ancient Name
A. Logic . Nirukta

B. Interpretation . Anviksiki

C. Etymology Il. Kalpa

D. Ritual IV. Mimamsa

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-1
2ZA-ILB-IV,C-1ILD-1
3.A-IVB-ILC-1L,D-1I
4A-NLB-IV,C-1,D-1

(1) 1
() 2
(3) 3
(4) 4




Tt -1 B gt -1 o gAfed st

g -1 (famm) g -1 (9T )
A BRI | FEw

8. Faaq 11, ff=afaeret

C. ogdfd fagm Il B

D. HHBIS V. HiHE

Hid feu e fadeal # 9§ 98l 3T gHU :

TA-ILE-IV,C-1, D-1l
2ZA-IL,B-IV,C-1ll, D-1
3A-IV,B-ILC-1, D-1l
4 A-NLB-IV,C-1I, D-1

1)
(2)
(3)
(4)

A W N =

1[Option ID=39273] Question Description : dwbv_pg_gp6_eng_2_q44
2[Option ID=39274]
3[Option ID=39275]
4[Option ID=39276]

Sl. No.45
QBID:6201045

Given below are two statements:

Statement |: Universities set up by the act of incorporation in 1857 were affiliating universities for
distant geographical areas.

Statement Il: No geographical limits to the areas of affiliation were indicated for the universities
set up by the act of incorporation in 1857.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=39277] Question Description : dwbv_pg_gp6_eng_2_q45
2[Option ID=39278]

3[Option ID=39279]
4[Option ID=39280]
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.
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One of the causes for status quo bias is

1. Psychological disability
2. Market pressure

3. Ego of individuals

4. Attention deficit

1) 1
() 2
3) 3
(4) 4
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.
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The cost of switching TV remote control is

1. Enormous

2. Time-tested

3. Mere thumb press
4. Moderate

1) 1
() 2
3) 3
(4) 4
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.
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The carry-over effect in relation to television means

1. stop watching it

2. continue watching it

3. switch over to another medium
4. complain to network executives

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=39289] Question Description : dwbv_pg_gp6_eng_2_q48
2[Option ID=39290]
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.
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Default options become powerful when

1. people reject offers.

2. people do not know what to select.
3. people want to switch default option.
4. default setters endorse them.

1) 1
() 2
3) 3
(4) 4
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Read the following passage and answer questions

Status quo is easily exploited. One of the causes of status quo bias is a lack of attention. Many
people adopt what we call the “Yeah, whatever®, heuristic. A good illustration is the carry over
effect in television viewing. Network executives spend a lot of time working on scheduling because
they know that a viewer who starts the evening on a particular network channel tends to stay
there. Since remote controls have been pervasive in this country for decades, the actual 'switching’
costs in this context are literally one thumb press. But when one show ends and the next one
comes on, a surprisingly high number of viewers, implicitly say Yeah, whatever' and keep watching.
Nor is the reader of a particular magazine the only victim of automatic renewal of magazine
subscription. Those who are in charge of circulation know that when renewal is automatic, and
when people have to make a phone call to cancel, the likelihood of renewal is much higher than it
is when people have to indicate that they actually want to continue to receive the magazine. The
combination of loss aversion with mindless choosing implies that if an opinion is designated as the
“default”, it will attract a large market share. In many contexts defaults have some extra nudging
power because consumers may feel, rightly or wrongly, that default options come with an implicit
endorsement from the default setter, be it the employer, government, or TV scheduler. For this and
other reasons, setting the best possible defaults will be a theme to explore by scholars.
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Tatan ud fewiee FuRo & Tawon &1 T fawg g

The passage is a deconstruction of

1. The status quo bias and the issue of default options
2. The psychological exploitation of network executives
3. Careful selection of magazines

4. Default options not attracting the market share

1) 1
() 2
3) 3
(4) 4
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Paper II : 5-Sociology
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The First wave of feminism was synonymous with:

1. ‘Me-too" movement.

2. 1960's Civil Rights Movement.

3. Queer Movement.

4. Women's Suffragette Movement.

1)
(2)
(3)
(4)
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1[Option ID=38701] Question Description : dwbv_pg_scy_eng_2_q1
2[Option ID=38702]
3[Option ID=38703]
4[Option ID=38704]
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Who has written the book Who Governs?

1. Domhoff

2. Robert Dahl
3. Lasswell

4. Reisman

1) 1




